A4833R / A4402 ECONOMICS: ECONOMICS OF LABOUR MARKETS

Q. P. Code : 28869

(2 Hours) ( Total Marks : 60)
N.B.: 1. All questions are compulsory.

2. All questions carry equal marks.
3. Draw neat diagrams wherever necessary.

Answer any two of the following : 15
a) Explain the concept of labour market and bring out its features.
b) Discuss the theory of Human Capital.
c) Briefly explain the costs and life — time benefits of education.

Answer any two of the following : 15
a) Discuss the determinants of labour demand.
b) Briefly explain the theory of labour supply.
c) How does the employer maximise utility given the resource constraints?

Answer any two of the following : 15
a)  Explain any two theories of wages.
b)  Bring out the reasons for wage differences.
c) Explain wage and output relations in India in the post —reform period.

Answer any two of the following : 15
a)  Explain the linkages in labour market.
b) Comment on labour market flexibilities.

C) Discuss the impact of liberalization and globalization on labour market in India.
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